HOUSE-DOC 00261594 2017/8/3/8:27:47.268

HOUSE-DOC Ver. 3.1.0.1 Serial No0.00261594



HOUSE-DOC 00261594 2017/8/3/8:27:47.268

K
1-18
40
1.000
1.000
0.000(m)
2 ( : )
( )
L 1
L 1
L 1

1F:134.947( ) / 2F: 31.098( )
1F:134.608( ) / 2F: 31.098( )

al
o
o

500

<

< 7

10
10

<

0.36m
=0.36m

0.75m
( ) =0.75m

< T
<

[uN
[N
3

( ) =1.1m

2.25m
=2.25m

<
< 71 |71

1.15m
=1.15m

<

<

<

O O A I
<

<

— HOUSE-DOC [ K 1 1— - 1-



0.030
0.126

142 307 =
138.292

HOUSE-DOC 00261594 2017/8/3/8:27:47.268

86.713
86.713

22 23 24

19 2021

1.641
1.594

= 1F

16 17 18"

11 12 13 14 15

10

— X‘ 995.5‘ 995.5‘ 995.5&5855 1&5 955 J 1000‘ 1000‘ 1000J 980 {375{605 1400‘55(1H5 895 ‘6001406.51006. 06,600

r

N O
— LD
o o
o o
v [T
. N
a olo —
@ S|
RIR 33
o <
oo y
| L O
3|3 (5P 7]
@™ 1
oclo|e|lc ©
cee e . . e
o © s © © © s © o -
St o —— . = e —
~ | | , . g°
cc I owm @ - ]
I ©
: | f = §S
| = o o
, co S ]
©c ; T G —(— i P WJ_ WJ_
© N
! S o
I — Q9
. owm : o &
. — . co 3
. 2 i « 3 2o
I e 2
os I S I 8
Y i PSS Hi Il Sl Sy R - T .
] I | g ” =8
jab ; E , =
©© © © | | ®E® 0~ o O
i ! o Ew® g 2 D M
il G ! 0 ol —H 9 M~ oo
GRS © « ” — . © 8 R
oo ©E® i)
S , , . w2 TanT
I I 2
©m ' _ | BG© © O —m I
oo © ! 1 ! g
I I =
im i o ! 1 i - — 2 1o
aﬂlc | I , o
oc o I I m
: < | ]~
: : g ” =< >
! oS gy ! ©© o © o m
oc ' I = —_—
I I o
I I S
I I S
. - : = = 4 —19
o I ﬁla _ © _ © -
oc ! GE® oco ®©E® ' ®E® oco %
o
: Ta , i n“—“n“rn“-u,n _ = g s = = - = = -
wwwwwwww L SN NN NN N N N N N N N N - L e ol 0 ol
L ” N ok o ob o 3 : :
. (Gl | L] | e =t~ s s-g—— —Ialilallallh B . SR
et © : I I
—col| | I ' % - © I © O I
T ” . NI s |
— o ” ! 2 - o ! oo
I ) h ) I I
| | | —m A ETTTTEEEEEE e
1e o | . ! n*e.l & -0 © ! om o ! qo=
ﬂc‘ o) ! 2] o o G 1 ® —\l b o o | %) 1
. U . .
o - ! - ) — J” > % == - ! - - - ! -
” ” AW m h ”
S0F 056G 6V&SABMELTS 056  GI0T  GI0GC BE 1055 /68 036 056 S0V 0965 6V/&9A3@SamCTS 056 GTOT  STOBC WK 10SS°/68  0S6  0S6
d 0 NN A X C I H .9 9 El El a d 0 NN T M r I H .9 9 E| El a

HOUSE-DOC [



HOUSE-DOC 00261594 2017/8/3/8:27:47.268

m1F X - =1.641 =86.713 =142.307 =0.030
Y - =1.594 =86.713 =138.292 =0.126

2
o ©
4 5 6 T 8 10 11 12 13 1415 16 17 18" 19 2021 22 23 24
m oF X - =1.799 =19.940 =35.884 =0.012
Y - =1.830 =19.940 =36.493 =0.059
& :
- (O3 e
4 5 6 T 8 10 11 12 13 1415 16 17 18" 19 2021 22 23 24
12 1460 (Fw Fuo)
VP CP-T CP-L
C )

— HOUSE-DOC [ K 1 1— - 3-



HOUSE-DOC 00261594 2017/8/3/8:27:47.268

" Qr(kN) |
2F 31.09842 0.64120 1.000 1.000 19.94020
0.00000 1.000 1.000 1.000
1F 134.60780 0.49553 1.300 1.000 86.71260
= * ( + )* * * * *
( )

0.23103| 0.00000| 0.53862| 1.60299| 0.00000| 0.00000| 0.00000| 0.00000

RFL 12 /1
RF2 13 /
QKFI1 6:

2F 4.0m * 1.00

1F 6.0m * 1.30
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. Qu(kN)

QuwiCkN)  Qw(kN)
Fwi(kN/m) ~ Fw(kN/m) Ki o L)  =FwKj*L == Qui

a 0.000 -
12 1.300 2.600 2.986 3.805
12 1.300 0.490
.000 -
.500 3.800 1.991 2.345 13.679
.300 0.310
.000 -
.200 7.700 1.956 7.529
.500 0.500
.000 -
.200 6.500 1.991 6.956
.300 0.537
.000 -
.200 *10 0.996 4.978
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. Qu(kN)

QuwiCkN)  Qw(kN)
Fwi(kN/m) ~ Fw(kN/m) Ki o L)  =FwKj*L == Qui

n 70 90 2.200
12 1.300 3.500 1.007 2.950
a 0.000 0.838(
.000
.200 6.500 0.895 4.654
.300 0.800(
.000
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. Qu(kN)

QuwiCkN)  Qw(kN)
Fwi(kN/m) ~ Fw(kN/m) Ki o L)  =FwKj*L == Qui

a 0.000
12 1.300 2.600 0.980 1.631
12 1.300 0.640(
.500
.000 3.500 1.910 3.844
.000 0.575(
.000
.200 6.500 1.007 4.580
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.300 0.800(
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. Qu(kN)

QuwiCkN)  Qw(kN)
Fwi(kN/m) ~ Fw(kN/m) Ki o L)  =FwKj*L == Qui

a 0.000
5.200 *10 0.950 6.650
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[ ] Qw(kN)
Qwik\N)  Qw(kN)
Fwi (kN/m)  Fw(kN/m) Ki L(m) =Fw*Kj*L =3 Qwi
a 0.000
12 1.300 2.600 2.980 4.959
12 1.300 0.640(
n 70 90 2.200
12 1.300 3.500 1.953 3.929
a 0.000 0.575(
n 70 90 2.200
1IF| Y b 12 1.300 3.500 0.950 2.785 29.526
a 0.000 0.838(
n 70 90 2.200
c 5.200 8.700 1.900 11.571
12 1.300 0.700(
a 0.000
c 5.200 *10 0.897 6.282
c 5.200 0.700(
) )
[1]
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= Qe (k)
Qwoi Qe
Fu(kN/m) L(n) =Fur*L (kN) =5 Quoi (kN)
0.300 0.000 0.000
a 0.000
0.600 0.000 0.000
0.300 0.960 0.288
X 0.288
0.600 0.000 0.000
0.300 1.991 0.507
b 0.507
- 0.600 0.000 0.000
0.300 0.000 0.000
a 2.934
0.600 4.890 2.934
0.300 0.000 0.000
Y 0.000
0.600 0.000 0.000
0.300 1.015 0.305
b 0.305
0.600 0.000 0.000
0.300 0.000 0.000
a 2.408
0.600 4.013 2.408
0.300 4.020 1.206
X 1.206
0.600 0.000 0.000
0.300 7.550 2.265
b 3.357
. 0.600 1.820 1.002
0.300 3.000 0.900
a 2.649
0.600 2.915 1.749
0.300 0.000 0.000
% 0.000
0.600 0.000 0.000
0.300 3.000 0.900
b 3.557
0.600 4.428 2.657
. QuCKN)
=Quw+Qe (kN
Qw(iN) Qe(kN) Qu=qu+Qe (kN
R 34.999 0.885 35.884
Y 33.255 3.239 36.493
BE 135.336 6.970 142.307
Y 132.086 6.206 138.292
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[ ] eKFl

G(m) S(m) e(m) re(m) Re eKfl
o X 8.570 8.526 0.044 3.671 0.01201 1.000
4m Y 4.703 4.918 0.215 3.640 0.05911 1.000
i X 8.144 8.322 0.177 6.011 0.02950 1.000
4m Y 9.154 9.923 0.769 6.098 0.12613 1.000

[ dKk = 1-(0/24)= 1.000 (0.7 dK) 1.000
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mN (

Al A2
B1 B2 N

w |y 2 | ]3.500 | 3.500 0.00 | 0.50 - - - 0.60 | 1.150 | [ ]
1 0.000 0.00 | 0.50| 3.500 0.00 | 0.50| 1.60 | 0.150 | [ 1]
.2 | 5.000 | 5.000 0.00 | 0.50 - - - 0.60 | 1.900 | [ 1
41 1 0.000 0.00 | 0.50| 5.000 0.00 | 0.50| 1.60 | 0.900 | [ 1]
Y |2]3.500] | 3.500 0.00 | 0.50 - - - 0.60 | 1.150 | [ ]
2 ] 3.500 | 3.500 0.00 | 0.50 - - - 0.60 | 1.150 | [ 1]
Y 0.000 0.00 | 0.50| 3.500 0.00 | 0.50| 1.60 | 0.150 | [ 1]
2 ] 0.000 | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
Ay | 0.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | -1.600 | [ 1]
0 | x|2 | ]3.500 | 3.500 0.00 | 0.80 - - - 0.40 | 2.400 | [ 1
51 x|2|5.000] § ]2.500 | 2.500 0.00 | 0.50 - - - 0.60 | 0.650 | [ 1]
N | x|2|o0.000] | ]o.000| o0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
50 | x|2|3.50] | ]1.000 | 2.500 0.00 | 0.50 - - - 0.60 | 0.650 | [ 1]
6l x|2|2500[ § ]2.500 | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
eN | x |2 0.000] | ]o0.000 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
o |y 2 100 | | 1.000| o0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
1] 3.500[ | |3.500 | 0.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | -1.600 | [ 1]
EESE: ] 0.000 | 0.000 0.00 | 0.80 - - - 0.40 | -0.400 | [ 1
Y1 | 2.500 | 2.500 0.00 | 0.80 - - - 0.40 | 1.600 | [ 1
7 |v|1]2.500][ | 2.500 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | -0.350 | [ 1]
7 x| 2] 2500 | 2.500 0.00 | 0.50 - - - 0.60 | 0.650 | [ 1]
- ] 0.000 | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
1 0.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | -1.600 | [ 1]
7K | v|2|o0.000[ | ]o.000| 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
7L | v|2|o0.000[ | ]o.000| 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
2| 0.000[ | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
ar 0.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | -1.600 | [ 1]
A 2| 0.000[ | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
YT | | 5.000 | 5.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | 0.900 | [ 1]
2| 1.000 [ ]3.500 | 2.500 0.00 | 0.50 - - - 0.60 | 0.650 | [ 1]
0 1] a0 [ /12500 | 1.000 | -0.50 | 0.50 2.500 0.00 | 0.50| 1.60 | -0.100 | [ 1]
y|1]5.000] | 5.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | 0.900 | [ 1]
7| x| 1]o0.000[ | |5.000| 5.000 0.00 | 0.50 - - - 0.60 | 1.900 | [ 1
8t | x|1 5.000[ | ]5.000 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
8l y|2|1.000[ | ]1.000 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
8 |v|2 1000 | ]1.000  0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
o X2 350 1 3.500 0.00 | 0.80 - - - 0.40 | 2.400 | [ 1
v|2]3500] | 3.500 0.00 | 0.80 - - - 0.40 | 2.400 | [ 1
oF |Y|1 | ] 2.500 | 2.500 0.00 | 0.50 - - - 0.60 | 0.650 | [ 1]
9 |v|1 2500 | ]2.500 | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
ERESE: | ] 0.500 | 0.500 0.00 | 0.50 - - - 0.60 | -0.350 | [ 1]
y|1|2500[ | ]2.500 | o0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
X |1 | | 5.000 | 5.000 0.00 | 0.50 - - - 0.60 | 1.900 | [ 1
°! y|1|2500[ | ]2.500 | o0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
X |1 | ] 0.500 | 0.500 0.00 | 0.50 - - - 0.60 | -0.350 | [ 1]
Y 2.500 | | 2.500 0.00 | 0.50 - - - 0.60 | 0.650 | [ 1
oN Y1 | | 5.000 | 5.000 0.00 | 0.50 - - - 0.60 | 1.900 | [ 1
X | 1] 2.500 | 2.500 | 0.000 0.50 | 0.50 - - - 0.60 | -0.350 | [ 1]
V1] 5000 N 5.000 0.00 | 0.50 - - - 0.60 | 1.900 | [ 1

u X I # 1

N=A1*B1-L : N=A1*B1+A2*B2-L

— HOUSE-DOC [
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Al A2
B1 B2 N

10 | X|1|5.000][ | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
1H | x| 10500 | 0.500 0.00 | 0.50 - 0.60 | -0.350 | [ ]
101 | x| 1|5.000][ | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
103 | x| 10500/ | 0.500 0.00 | 0.50 - 0.60 | -0.350 | [ ]
1N | Y1 | ] 5.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
RS 2.500 | | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]

v |1]5.000] | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1
120 | x|1 | ] 5.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1
B |yt | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
1V |y |1 0.00[ | ]s.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1]

x|1]5.000] | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1
B0 YT 52000 | | Jo.000| s5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1]
13° | Y| 1)0.000][ | 0.000 0.00 | 0.80 - 0.40 | -0.400 | [ ]
14K | x|10.00[ | ]s.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1]
1P| X |1 | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
RS ] 0.000 | 0.000 0.00 | 0.80 - 0.40 | -0.400 | [ ]

Y1 | 5.000 | 5.000 0.00 | 0.80 - 0.40 | 3.600 | [ ]
16E | Y| 1|5.000[ | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
16K | X | 1|5.000[ | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
M| Y1 | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
16N | v |1|o0.000 | ]2.500]| 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]
160 | v|1|2500[ | ]o.000]| 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]
RS 0.000 || 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]

Y |1]o0.000] | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
17D | x| 1 0.000[ | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
18K | Y1 | ] 2.500 | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ 1
18k |y 1|2500] | ]o.000| 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ 1]
1 | Yv|10.00[ | Jo.000 | o0.000 0.00 | 0.50 - 0.60 | -0.600 | [ 1]
v |y |1 0.00[ | ]5.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1]

X |1 | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
10 T 52000 | | Jo.000| s5.000 0.00 | 0.50 - 0.60 | 1.900 | [ 1]
18P | Y| 1)|0.000][ | 0.000 0.00 | 0.80 - 0.40 | -0.400 | [ ]
180 | x| 1{o0.000] | |2.500]| 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ 1]
19 | Xx |1 | ] 2.500 | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]
19F |V |1 | ] 5.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
RS | | 5.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]

y|1]5.000] | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
1H | x |1 | | 5.000 | 5.000 0.00 | 0.50 - 0.60 | 1.900 | [ ]
19K | x| 1 | ] 2.500 | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]
190 | X | 1| 2.500[ | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]
200 | X |1|2.500[ | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ ]
216 | x| 1|5.000] | |5.000| o0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]

x|1|5.000] | ]5.000| o0.000 0.00 | 0.50 - 0.60 | -0.600 | [ 1]
AT | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
211 |y |1 0.00] | Jo.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ 1]
213 |y |1 0.00[ | Jo.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ 1]

x| 1] 2500 | 2.500 0.00 | 0.50 - 0.60 | 0.650 | [ 1
2T 0.000 || 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]

N=A1*B1-L :
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Al A2
B1 B2 L N
226 | X |1|5.000[ | 5.000 0.00 | 0.50 - - 0.60 | 1.900 | [ 1
224 | x| 1|5.000[ | |2.500]| 2.500 0.00 | 0.50 - - 0.60 | 0.650 | [ 1]
220 | x|1 | ] 0.000 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
230 | x|1 | ] 2.500 | 2.500 0.00 | 0.50 - - 0.60 | 0.650 | [ 1]
R SE! 500 || 2.500 0.00 | 0.80 - - 0.40 | 1.600 | [ 1
Y1 | 2.500 | 2.500 0.00 | 0.80 - - 0.40 | 1.600 | [ 1
246 |y |1 2500] | Jo.000 | 2.500 0.00 | 0.50 - - 0.60 | 0.650 | [ 1]
24F | Y| 1| 0.000] | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
246 | Y |1 | ] 0.000 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
x| 1] 2500 | 2.500 0.00 | 0.50 - - 0.60 | 0.650 | [ 1
T 000 || 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1
243 | Y |1 | ] 0.000 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
24K | Y |1 0.000[ | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
2 Y1 | ] 0.000 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
24\ | v |10.00] | ]2.500| 2.500 0.00 | 0.50 - - 0.60 | 0.650 | [ 1]
R SE! 000 || 0.000 0.00 | 0.80 - - 0.40 | -0.400 | [ 1
Y|1]2500] | 2.500 0.00 | 0.80 - - 0.40 | 1.600 | [ 1
u X I #
N=A1*B1-L : N=A1*B1+A2*B2-L
N (KN)
[ 1 0.00 0.0
[ 1) 0.65 3.4 cP-L
[ 1100 5.1 VP cP-T
[ 1 1.40 7.5 ( )
[ 1) 1.60 8.5 ( )
[ 1]1.80 10.0 10kN
[ 1 28 15.0 15N
[ 1]3.7 20.0 20kN
[ 1] 4.7 25.0 25kN
[ 1]5.6 30.0 15kN x 2
[ 1] 5.6 NX5.3 -
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¥ . . . 8l—s . . —_
o . A 138 531 | o] o 332 -
[1 01 [ 1]l ] o
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n N ( ) |
( 1.96 )
B1 B2 L N

2 [\ 4.808 | 4.898 0.50 | 0.80 - - - 0.40 | 3.918 | [ 1
A Y <] 5.867 | 5.867 0.00 | 0.80| 4.898 0.50 | 0.80| 1.00 | 8.012 | [ ]
2 | 13.920| 3.920 0.00 | 0.50 - - - 0.60 | 1.364 | [ 1]
ARy 0.000 0.00 | 0.50| 3.929 0.00 | 0.50| 1.60 | 0.364 | [ 1]
.12 || 5.306 | 5.306 0.00 | 0.50 - - - 0.60 | 2.053 | [ ]
" 1 0.000 0.00 | 0.50| 5.306 0.00 | 0.50| 1.60 | 1.083 | [ 1]
.12 3.929 | | 3.929 0.00 | 0.50 - - - 0.60 | 1.364 | [ 1]
1 ] 6.276 | 6.276 | -0.50 | 0.50 3.929 0.00 | 0.50| 1.60 | 3.252 | [ 1]
43 |y | 1]|6.276 /] 6.276 0.50 | 0.50| 0.000 0.00 | 0.50| 1.60 | 1.788 | [ 1]
W |yl || 3.929 | 3.929 0.00 | 0.50 - - - 0.60 | 1.364 | [ 1]
1 0.000 0.00 | 0.50| 3.929 0.00 | 0.50| 1.60 | 0.364 | [ 1]
.2 || 1.327| 1327 0.00 | 0.50 - - - 0.60 | 0.063 | [ 1]
" 1 0.000 0.00 | 0.50| 1.327 0.00 | 0.50| 1.60 | -0.937 | [ 1]
23920 |7]4.79 | 0.867 | -0.50 | 0.50 - - - 0.60 | -0.416 | [ 1]
YT | 15.306 | 5.306 0.00 | 0.50| 0.867 | -0.50 | 0.50 1.60 | 1.237 | [ ]
2 | ]3.920| 3.020 0.00 | 0.80 - - - 0.40 | 2.743 | [ 1
o "\ 4.808 | 4.898 0.50 | 0.80| 3.929 0.00 | 0.80| 1.00 | 6.461 | [ 1]
0 2 | 4.7% ] 4.796 0.50 | 0.80 - - - 0.40 | 3.837 | [ 1
YT 5.306 | | 5.306 0.00 | 0.80| 4.796 0.50 | 0.80| 1.00 | 7.482 | [ 1]
2 | 4.808 [\] 4.898 | -0.50 | 0.50 - - - 0.60 | 1.599 | [ 1
T 5.867 [ 5.867 0.00 | 0.50| 4.898 | -0.50 | 0.50 1.60 | 3.533 | [ ]
51 x|2|5.36] | |3.316 1.990 0.00 | 0.50 - - - 0.60 | 0.395 | [ ]
sNo | x |2 1.327 | J1.327 | 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
o |y |2 39 |} 1939 | 1.990 0.00 | 0.50 - - - 0.60 | 0.395 | [ ]
14808 \] ]3.920| 0.969 | -0.50 | 0.50| 1.990 0.00 | 0.50| 1.60 | -0.370 | [ ]
61 2|3.316] | ]3.316| 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
6N 2| 1327 | ]1.327| o0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
o |y 2 198 |} 1939 | o0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
1]3.920[ | |3.920] 0.000 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | -1.600 | [ 1]
ERESE: ] 0.000 | 0.000 0.00 | 0.80 - - - 0.40 | -0.400 | [ 1
Y1 | | 5.204 | 5.204 0.00 | 0.80 - - - 0.40 | 3.763 | [ 1
2 ||4898| 4.88 | -0.50 | 0.50 - - - 0.60 | 1.599 | [ 1
® |1 0.000 0.00 | 0.50| 4.898 | -0.50 | 0.50 1.60 | 0.599 | [ ]
v|1]5.204] | 5.204 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | 1.002 | [ 1]
7 x|2]|3.36] | 3.316 0.00 | 0.50 - - - 0.60 | 1.058 | [ 1
2 | | 1327 | 1.327 0.00 | 0.50 - - - 0.60 | 0.063 | [ 1
LR 0.000 0.00 | 0.50| 1.327 0.00 | 0.50| 1.60 | -0.937 | [ 1]
7K v|2| 1327 | ]1.327| 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
7L v|2| 137 | ]1.327| 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]
.12 1.327] | 1.327 0.00 | 0.50 - - - 0.60 | 0.063 | [ ]
o 1 0.000 0.00 | 0.50| 1.327 0.00 | 0.50| 1.60 | -0.937 | [ ]
.12 1.327] | 1.327 0.00 | 0.50 - - - 0.60 | 0.063 | [ 1]
1 | ] 5.306 | 5.306 0.00 | 0.50| 1.327 0.00 | 0.50| 1.60 | 1.716 | [ 1]
MEARR: [} 13.929| 1.990 0.00 | 0.50 - - - 0.60 | 0.395 | [ ]
70 1390 |15.051| 1.122 | -0.50 | 0.50| 1.990 0.00 | 0.50| 1.60 | -0.204 | [ 1]
Y|1]5.306] | 5.306 0.00 | 0.50| 0.000 0.00 | 0.50| 1.60 | 1.083 | [ 1]
77 | x| 1]o0.000] | |6.429| 6.420 0.00 | 0.50 - - - 0.60 | 2.614 | [ 1
8t | x|1 6.420 | Je.420 0.000 0.00 | 0.50 - - - 0.60 | -0.600 | [ 1]

] #

N=A1*B1-L : N=A1*B1+A2*B2-L
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Al A2
B1 B2 N

o | X 2] 488 4.898 0.50 | 0.80 - 0.40 | 3.918 | [ ]

Y2 [\ 4.808 | 4.898 0.50 | 0.80 - 0.40 | 3.918 | [ ]
8" | v|2| 4.88[\] ]1.939| 2,959 | -0.50 | 0.50 - 0.60 | 0.630 | [ ]
8l y|2]1.99] | |1.939  0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
8 |v|2 193 | J1.939 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
8 | v|2| 1.9 [/]2.908| 0.969 | -0.50 | 0.50 - 0.60 | -0.365 | [ ]
8N Y| 2] 2908 /] ]3.929| 1.020 0.50 | 0.50 - 0.60 0.160 | [ ]

x|2] 3.9 | 3.929 0.00 | 0.80 - 0.40 | 2.743 | [ 1
V2] 50 1 3.929 0.00 | 0.80 - 0.40 | 2.743 | [ 1
oF Y1 | | 4.439 | 4.439 0.00 | 0.50 - 0.60 | 1.619 | [ ]
9 | v|1|4.439] | ]4.439| o0.000 0.00 | 0.50 - 0.60 | -0.600 | [ 1]

X |1 | | 1.786 | 1.786 0.00 | 0.50 - 0.60 | 0.203 | [ ]
M VL aam [ ] J6.327| 1.888 0.00 | 0.50 - 0.60 | 0.344 | [ ]

X |1 | ] 6.429 | 6.420 0.00 | 0.50 - 0.60 | 2.614 | [ ]
°! vy|1|6.327] | ]6.327| o0.000 0.00 | 0.50 - 0.60 | -0.600 | [ 1]
ERSE! | | 1.786 | 1.786 0.00 | 0.50 - 0.60 | 0.203 | [ ]

v |1]e.327] | 6.327 0.00 | 0.50 - 0.60 | 2.563 | [ ]
oN Y1 | ] 5.306 | 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ ]
oo | X 15081 L leser | 1276 0.50 | 0.50 - 0.60 | 0.288 | [ ]

y|1]5.306] | 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ ]
1E | X|1|6.429] | 6.429 0.00 | 0.50 - 0.60 | 2.614 | [ ]
1H | x| 1|1.786[ | 1.786 0.00 | 0.50 - 0.60 | 0.203 | [ ]
101 | x| 1|6.429] | 6.429 0.00 | 0.50 - 0.60 | 2.614 | [ ]
103 | x| 1|1.786[ | 1.786 0.00 | 0.50 - 0.60 | 0.203 | [ ]
1N | Y1 | | 5.306 | 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ 1

x|1]e6.327] | 6.327 0.00 | 0.50 - 0.60 | 2.563 | [ 1
0T 5.306 || 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ 1
120 | x|1 | ] 6.429 | 6.429 0.00 | 0.50 - 0.60 | 2.614 | [ ]
B |yt | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
1V | v|10.00] | |5.306 | 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ ]

x| 1]6.42] | 6.429 0.00 | 0.50 - 0.60 | 2.614 | [ ]
B0 YT 5008 [ | Jo.000| 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ ]
1P | Y| 1)0.000][ | 0.000 0.00 | 0.80 - 0.40 | -0.400 | [ ]
14k | x|1|1327] | |5.308| 3.980 0.00 | 0.50 - 0.60 | 1.300 | [ ]
1P | X |1 | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
RS ] 0.000 | 0.000 0.00 | 0.80 - 0.40 | -0.400 | [ ]

Y1 | 6.429 | 6.429 0.00 | 0.80 - 0.40 | 4.743 | [ 1]
16E | Y| 1|6.429] | 6.429 0.00 | 0.50 - 0.60 | 2.614 | [ ]
16K | X |1|5.306[ | 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ ]
M| Y1 | ] 0.000 | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
16N | v |1|o.000] | |3.316| 3.316 0.00 | 0.50 - 0.60 | 1.058 | [ ]
160 |v|1|3.316 | Jo.000/| 3.316 0.00 | 0.50 - 0.60 | 1.058 | [ ]

x| 1]o0.000] | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
T 0.000 || 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
17D | x| 1 0.000[ | 0.000 0.00 | 0.50 - 0.60 | -0.600 | [ ]
18K | Y1 | ] 3.316 | 3.316 0.00 | 0.50 - 0.60 | 1.088 | [ 1
k| v 1]3.316] | |1.327| 1.990 0.00 | 0.50 - 0.60 | 0.395 | [ ]
| v |1 137 | Jo.o00| 1.327 0.00 | 0.50 - 0.60 | 0.063 | [ 1]
v |y |1 0.00] | ]5.306 | 5.306 0.00 | 0.50 - 0.60 | 2.053 | [ ]

N=A1*B1-L :
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Al A2
B1 B2 L N
R SE! | ] 0.000 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
vy|1]5.306] | |o.000 5.306 0.00 | 0.50 - - 0.60 | 2.053 | [ ]
18P | Y| 1|0.000][ | 0.000 0.00 | 0.80 - - 0.40 | -0.400 | [ 1
18°0 | x| 1] 0.000[ | ]3.316| 3.316 0.00 | 0.50 - - 0.60 | 1.058 | [ 1
1 | x|1 | | 4.430 | 4.439 0.00 | 0.50 - - 0.60 | 1.619 | [ 1
1F Y |1 | | 5.306 | 5.306 0.00 | 0.50 - - 0.60 | 2.053 | [ ]
X |1 | | 5.306 | 5.306 0.00 | 0.50 - - 0.60 | 2.053 | [ 1]
T 5.306 | 5.306 0.00 | 0.50 - - 0.60 | 2.053 | [ 1]
19H | x|1 | | 5.306 | 5.306 0.00 | 0.50 - - 0.60 | 2.053 | [ 1]
19K | x |1 | | 3.316 | 3.316 0.00 | 0.50 - - 0.60 | 1.058 | [ 1
190 | x| 1|3.316[ | 3.316 0.00 | 0.50 - - 0.60 | 1.058 | [ 1
200 | X | 1| 4.439[ | 4.439 0.00 | 0.50 - - 0.60 | 1.619 | [ 1
216 | x |1 5.306] | ]5.306 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
x|1|5.306] | ]5.306 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
AT | 1327 | 1.327 0.00 | 0.50 - - 0.60 | 0.063 | [ 1
211 | v 1| 1327 | 1.327| o0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
203 | v 1| 1327 | |1.327| o0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
PRI 3.316 | | 3.316 0.00 | 0.50 - - 0.60 | 1.058 | [ 1]
v 1] 1327 | 1.327 0.00 | 0.50 - - 0.60 | 0.063 | [ ]
226 | X |1|5.306[ | 5.306 0.00 | 0.50 - - 0.60 | 2.053 | [ ]
224 | x|1|5.306] | |3.316| 1.990 0.00 | 0.50 - - 0.60 | 0.395 | [ ]
220 | x|1 | | 1.786 | 1.786 0.00 | 0.50 - - 0.60 | 0.203 | [ 1
230 | x |1 | ] 4.430 | 4.439 0.00 | 0.50 - - 0.60 | 1.619 | [ 1
ERSE 4.439 | | 4.439 0.00 | 0.80 - - 0.40 | 3.151 | [ ]
Y1 | 4.439| 4.439 0.00 | 0.80 - - 0.40 | 3.151 | [ 1]
246 | Y |1 4.439] | J1.78 | 2.653 0.00 | 0.50 - - 0.60 | 0.727 | [ 1]
24F | Y| 1| 1.786[ | 1.786 0.00 | 0.50 - - 0.60 | 0.203 | [ 1
246 | Y |1 | | 1.786 | 1.786 0.00 | 0.50 - - 0.60 | 0.203 | [ 1
x|1]3.36] | 3.316 0.00 | 0.50 - - 0.60 | 1.058 | [ 1
T 1.786 | | 1.786 0.00 | 0.50 - - 0.60 | 0.203 | [ 1
243 | Y1 | | 1.786 | 1.786 0.00 | 0.50 - - 0.60 | 0.203 | [ 1
24K | Y| 1| 1.786[ | 1.786 0.00 | 0.50 - - 0.60 | 0.203 | [ 1
24 Y1 | ] 0.000 | 0.000 0.00 | 0.50 - - 0.60 | -0.600 | [ 1]
20 |y |1]0.000 | |4.430 | 4.439 0.00 | 0.50 - - 0.60 | 1.619 | [ 1
RSE! 1.786 | | 1.786 0.00 | 0.80 - - 0.40 | 1.029 | [ 1
Y| 1] 4.439] | 4.439 0.00 | 0.80 - - 0.40 | 3.151 | [ ]
] # 1
N=A1*B1-L : N=A1*B1+A2*B2-L
N (KN)
[ 1 0.00 0.0
[ 1) 0.65 3.4 cP-L
[ 1100 5.1 VP cP-T
[ 1 1.40 7.5 )
[ 1) 1.60 8.5 )
[ 1) 1.80 10.0 10kN
[ 1 28 15.0 15N
[ 1]3.7 20.0 20kN
[ 1] 47 25.0 25KkN
[ 156 30.0 15kN x 2
[ 1| 5.6 NX5.3 -
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